YA RHINO-RACK °O"TROM-=0

QMVA20
Note: Max *©
ltem | Component Name | Qty ';:rt Spacer height N
~130mm |
1 Quick Mount VA 2 M763
20mm Spacer
2 | M6x40 Socket HD 2 B033
Cap Screw
3 Instructions 1 R567

Quick Mount Spacers can be
combined to achieve a desired

height. 5mm

*Fix the Quick Mount Spacer to the Leg
using the hardware in the leg kit. The
bolts found in the spacer kit will replace

the original in the leg kit.

it w
10mm 0 O/
15smm T ]
20mm
25mm
Issue: 02 Document No: R567

Prepared: Kayle Everett

K CONTROLLED
i RHINO-RACK

QMVA20
Note: Max *
Item | Component Name | Qty Ze:,rt Spacer height
—130mm

1 Quick Mount VA 2 M763

20mm Spacer
2 M6x40 Socket HD 2 B033

Cap Screw
3 Instructions 1 R567

Quick Mount Spacers can be
combined to achieve a desired

height. 5mm

*Fix the Quick Mount Spacer to the Leg
using the hardware in the leg kit. The
bolts found in the spacer kit will replace

the original in the leg kit.

it w
10mm =
1smm T )
20mm
25mm

Issue: 02 Document No: R567

Prepared: Kayle Everett

Q) (\-s} {
W

CONTROLLED
¥4 RHINO-RACK

QMVA20
Note: Max *@
ltem | Component Name | Qty iﬁ:t Spacer height /
~——130mm
1 Quick Mount VA 2 M763
20mm Spacer
2 | M6x40 Socket HD 2 B033
Cap Screw
3 Instructions 1 R567

Quick Mount Spacers can be
combined to achieve a desired
height. 5mm

*Fix the Quick Mount Spacer to the Leg
using the hardware in the leg kit. The
bolts found in the spacer kit will replace

the original in the leg kit.

10mm @
tsmm T[T
20mm
25mm

Issue: 02 Document No: R567

Prepared: Kayle Everett

A RHINO-RACK CONTROLLED

QMVA20
Note: Max *
ltem | Component Name | Qty l:laort Spacer height
~——{30mm

1 Quick Mount VA 2 M763

20mm Spacer
2 | M6x40 Socket HD 2 B033

Cap Screw
3 Instructions 1 R567

Quick Mount Spacers can be
combined to achieve a desired
height. 5mm

O~ CONTROLLED
) RHINO-RACK

QMVA20
Note: Max *@
ltem | Component Name | Qty i:::t Spacer height /
1 Quick Mount VA 2 M763
20mm Spacer
2 M6x40 Socket HD 2 B033
Cap Screw
3 Instructions 1 R567

Quick Mount Spacers can be
combined to achieve a desired

height. 5mm

*Fix the Quick Mount Spacer to the Leg
using the hardware in the leg kit. The
bolts found in the spacer kit will replace

i w
10mm @
15mm
20mm
25mm

Issue: 02 Document No: R567

the original in the leg kit.
Prepared: Kayle Everett

10mm ;
15Smm- -
20mm
"""" *Fix the Quick Mount Spacer to the Leg
"""" using the hardware in the leg kit. The
25mm @ bolts found in the spacer kit will replace
the original in the leg kit.
Issue: 02 Document No: R567 Prepared: Kayle Everett
. CONTROLLED
v RHINO-RACK
\'{{
QMVA20
Note: Max p
Item | Component Name | Qty Zaort Spacer height
—30mm
1 Quick Mount VA 2 M763
20mm Spacer
2 | M6x40 Socket HD 2 B033
Cap Screw
3 Instructions 1 R567

Quick Mount Spacers can be
combined to achieve a desired

height. 5mm

*Fix the Quick Mount Spacer to the Leg
using the hardware in the leg kit. The
bolts found in the spacer kit will replace

i w
10mm ﬁ
15mm
20mm
25mm
Issue: 02 Document No: R567

the original in the leg kit.
Prepared: Kayle Everett



rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled

rodr
Small Controlled


